Classwork 23
APRIL 19, 2020

We have discussed congruent objects. Two objects are congruentif ........

Two triangles are congruent if
they have same sides and _same angles.

Congruent Triangles Rules: (= Congruent symbol)

1. 3 Sides are equal (SSS) b a
c
. . b
2. Side Angle Side are equal (SAS)
A
c
3. Angle Side Angle are equal (ASA) \A B/
' c
3
C
4. Angle Angle Side are equal (AAS) \A
' [

Median (middle) definition

A median of a triangle is a line segment joining
a vertex to the midpoint of the opposing side.

Area =a-b(cm - cm) b



http://en.wikipedia.org/wiki/Triangle
http://en.wikipedia.org/wiki/Line_segment
http://en.wikipedia.org/wiki/Vertex_(geometry)
http://en.wikipedia.org/wiki/Midpoint

Classwork 23 Continued .....

Proof that in an isosceles triangle a distance from any point on the median to the
base vertexes is the same.

1. Draw an isosceles triangle.

Note: the properties of the isosceles
triangle are marked. Sides are equal, base
angles are equal.

2. Draw a median in an isosceles triangle

Note: the properties of the median are marked.

AABO = ACBO by SAS => £ AOB = £ BOC

As a matter of fact £ AOB and £ BOC are straight
angles, but we didn’t prove it yet.

3. Draw a point D on the median and connected with A and C.

DO =D0, AO0=cC0,4£A40B= £ BoC =>
AADO = ACDO by SAS

=>AD =CD



http://en.wikipedia.org/wiki/Vertex_(geometry)
http://www.google.com/imgres?hl=en&sa=X&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1162&bih=566&tbm=isch&tbnid=H-lD61C3lxaaoM:&imgrefurl=http://www.usna.edu/Users/cs/lmcdowel/courses/ic210/F12/labs/IC210_Lab_3.htm&docid=f6RkDMruoppy3M&imgurl=http://www.usna.edu/Users/cs/lmcdowel/courses/ic210/F12/labs/IC210_Lab_3_IsoscelesTriangle.gif&w=505&h=440&ei=_SdkUdHnC4na4AOvqoBI&zoom=1&iact=hc&vpx=782&vpy=155&dur=3234&hovh=210&hovw=241&tx=119&ty=151&page=1&tbnh=143&tbnw=144&start=0&ndsp=22&ved=1t:429,r:6,s:0,i:169

MATH 4: HOMEWORK 23
APRIL 19, 2020

Use symbols: £, 4, =>, =, etc. wherever possible.

1. Proof:

Given: £ ABC= £ CDE=90°; My proof:
AB = ED; A E

C is the midpoint of BD I\ /‘

Proof that: A ABC= A EDC. C

2. Proof:

Given: £1= £2; AD =CD; A My proof:

Proof that: £5= £6;




3. You can use color pencils for calculation.

Find the area of two crowns to
the right in squares.

4. You can use color pencils for calculation.

The square to the right was divided into small squares. Find:
a. the area of shaded region
b. the area of unshaded region

area of the shaded region

c. theratio: -
area of the unshaded region

5. ** Proof:

Given: £ A= ZE; AB = BE; A My proof:

Proof that: AD = EC;




